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' : g . P Amount of a substance in terms of numbers is
Mole | Newton Kilogram Gram measured in:
2 : ™ = T
=« Jar L‘L—‘ o s ?-T—-LJL?L;J'A"JJ:‘J'A"U-'(. 3
Torgue | Force Length Velocity Which quantity is an example of scalar quantity?
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i u ‘s Newtons first law of motion is valid only in the
Momentum | Friction Net force Force absence of®
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! : Radius of the Earth is: | .
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Electric cell Photocell ® | Electric generator |  Electric bulb | Which one converts light into electrical energy? |:
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Become fo . If the velocity of a body becomes double, then its ?
| Become half times Become double | Remain constant | kinetic energy will: ! |
| bl . |
' Ikgm™3 llw:gm‘3 ].Bkgm'g‘. 2kgm™> ) - e IO II 9
Density of air is: - -
| s Al i o o B
13m 1.4m 1.5m im o '.‘d"uwa"w"wo' st 10
| A mercury barometer tube lengthis: a
L o 2K AT St/ 30zl | 11
J All thes® « Air Su:ﬁ?;;ﬁ:ﬁ of | Temperature | Which affects evaporation?
O R A I e g deadey ‘e byl Gegduadi 12
| Insulatethg | ~ " Keep the roof | Lower the height | - T e :
| i Cool the room | loan of ceiling False ceiling is done to:
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Write shart answers fn nny FIVF paris .H#Mu-'ﬂsbﬁdf
Witk ihe was il phyakonl balanog -."_"r.,‘r* t. = I"J
Deeline screw gage = "-"-r-E’k ‘-"I'
Whal |5 mveant by sesentiflc motation® te dre o iAW D
el ssalars gd v P evamples _‘_‘; -b.ill"-r:.-.'_':._q ;..,'.-'.i.“c ik
Wirite second evpuastion af monon fir hody rening under ity w2 sl ML S Ll s '.m *'-J-!"' L
Deflne contripetal firve  Giive its foemula G T --—-I PI IR )
What in mesnt by teolaied oy stgm® “"'1."- AT )
Write %1 unit of force anid define it - ."—l’ "L‘ N o g SIS P iy
Write short answers 10 any FIVE parts. t—*'z‘giﬂ-y -3

Define like parallel forces and ¥ive an euample,
DPreflie torque and wrate its %1 wnin.
Why the height of vwhicles i bept ms low w1 pou|ble?

What i meant by force of Eres itation?

Define gravitatonal field strength

Why the communication sstellites are sintoned Bl peostationnry orhii?
Diefing kinetic energy and write in equalion

How ihe solar pancls are formed” Witie the uses of solar panels
Write short answers to any FIVE parts.

Write principle of Moatstion

Srate Hook's law

What s meant by elastic limlt?

Differentiate between heat and temperatury
Define specific heat capacity.
What I8 meant by comvection curment?

Why does land breeze blow in the night?
What is the reasen of glider 1o M in air®
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Part - 1. Attempt any TWO questions. Fach question carries (09 marks.
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Derive the third equation of motion with the help of speed

-time graph.
e AL 20N LLL S d il 2aNs 2 75L

hi-"J' L-‘-‘

How much time is required to change 2INS momentum by a force of 20N7
tun L r Sl B ol i () 6

Determine a force when its perpendicular components are

given

?L,rﬂJL.{.fl.-@ i, fi_.u._rf};.u:j - ¥ ._LrIJJJ 20ms™! L-I.r‘l-rhsmg SN "’,.?...fl S |

A stone of mass 500g strikes the ground with o tt!oclh of 20ms!

energy of the stone at the time it strikes the ground?

. How much is the kinetic

{ OLTITL ..-t...-l-';}-fu:}ﬂ .fq_,f:..E'a'r 1‘ ()

Explain the impact of green house effect in glmbal Mrmmg"
- bl Imm Ldulna L6} 100008 ¢;,-I._,F’{ULJ' 5x107%m? Ll L ()

A steel wire Im long and cross-sectional area §x107%m?
10000N. Find the Young's modulus of the wire.

Ll
is stretched through Imm bya fon:t of
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